[ Efficiency vs vertpos |
= 0.1
£ 0.09
g
5.0.08
2
© 0.07,
L
$0.06
PTG AL AR N S A
0.04fFH+H e e

.................................................

............................................

..........................................

0.03
0.02

0.01

L0 ...! P .! .......! L

Ratio

LIVEEUEret ke tree b1
H ; + ]
i - --|r<>----n-: ------------
1|4 [T+

0.9t i
1072 101 1 10 0?
TP vertr (cr%)

_Dg—.— M_CRFFIT_T000evt
_CKFREFit_1000evt

—e— DM~
T —~— DQM_MKFitREFt_1000evt
Efficiend DOM

TESTOLHIT _1000evt
N 0.2

L A SR S S B

» F : . : : :
e L S SR SR
> r : . : : :
< C...... e SO PO S beeenns
_90'14: : : : : :
£ 0,12 oo e
o F : : : : :
O Rt AN SRR SRS
7 RN S N | e

0.06------ s 41 & A PO N | S s
S A 4
i e 1| R
0'02:_ ...... ....... +ﬂ++%

P AR AT

o

=

LI SO .
o . 1 1 I .
SRR 1ratyititd 1111 | SRR SR

%920 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2

D N U - N AU VTS SO N

L e e S S A
P e | N S R N

R
£0.14F 5o it
P E : : : : : :

R A S
O e B ARl SR Sl AR AR
0.08F oo fif ook d gl
0.08F -+ ik ey o :
0.04F
0.02F--+ SRRRR
Y EE e e e R

effic

Ratio

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


